ICTALT
FINAL TEST OPEN BOOK NO LAP-TOP (100 menit)

Name: MA“MPA . S fi Student ID #: 126011 99

You do not need any extra paper, write down all your answers right here ! Use the back page if necessary.

1. Why should we learn about /CT (70 points):
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3. List 6 (six) examples of the teaching format (5 amts
Talk and chalk ¢
Magter -~ Apreviki(e Sps

4, List 6 (six) aspects to support the teaching skills (5 points):
dulﬂl" S‘r - Mw{-fao DI BS

5. In one of your group assigments, your group has made a visit to an ICT facility for education (70
points):

(a) Name the ICT Facility your group has visited: _SMk Nurkagya TiDung

b) List 2 (two) examples of hardware, software and humanware aspects at the ICT Facility:

hardware aspects Humanware aspects
EAM . HARd dick Adoboe  Photoshoy , MoZille

LCcyp _ G,DoE,\k chome emtglmmty_, ,

6. Your group has interviewed a practicing teacher to make an assessment on her/his mastery in ICT
and how he/she uses the ICT to support hi cf/her job (70 points):

(3) The teacher's name: ____ FAHMAT ) §-P place of work: _SMk_Nuekaeya T L dunG

(b) His/her mastery of ICT is (circle only one answer):

* Extra Ordinary * Not Quite Good
(c) Explanation of 6(b):
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ICTALT
FINAL TEST OPEN BOOK NO LAP-TOP (100 menit)
I - s1 LA

Name: _ MASSAADA - S Bd Student ID #: _
You do not need any extra paper, write down all your answers right here ! Use the back page if necessary.

[ e the majority of its population earn their living as information workers is_ c_alled an
g~ i points). What do Information workers do for living? (70

\NForaaiov &ede{-t society (5 . ‘
omduiing DroCepihng O d;ﬂmlouln :

points) Answer. They __O%
INFocmatict)  omd orodueing  INFormakiey techinoles

Examples of information workers are (give three more): Teachers, Smentitts | news ?ﬂf_’éf“

reporters , Computer [Progammer -

8. There are 3 (three) levels of Information Systems, from the lowest to the highest ( 10 points):

1. Mavwual - based Information Systems
2. Compuler - based Information Systems, and
3. nNet wor - based Information Systems
8. What mode of communication did Shannon and Weaver's model of communication
originally represent? Answer. %“"tm mode modle. 2 (two) other modes of

communication derived from the same model are: (a) Tull Duplex
and (b) Half %k&:x (10 points)

0. The smallest unit of information is _Bit stands Ffor (an abrreviation of)

Rivery digit ? (5 points)

10. Cre)al:e 16 (sixteen) different “4-bit binary codes” to identify 16 different persons (70
points):

A: 0000 E: 0100 M: 1100
B: 000 FF olo J: 100 N: (ol
C: 001D G:__ollo K _tolo O 10
D: 00\ H: O\l & \0\\ P1111

11. Write down your answers below, or use the back page if necessary:

(a) If each letter or chyracter is coded into a 10 bit binary code of information, every word is made
up fron:u 5 let-ters in average, and the content of every page is about 500 words in average, how

b Hmany bltsbof Tformatlon are there contained in a 250-page book? (5 point). |
ow many books about the same size as described in 11(a) can fill up an 8 GB Flash Disk? (Note: 1
B(yte) = 10 b(its), so 8 GB = 80 Gb)(5 poind) o

Answer.

11.(d 2¢p Paqes
X  Llether
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$2as-000 x 16 bix = €.150 - 000 \or }

(L), Flasla ek Capacitf = 8 Gu = Jo ¢ = 8o.000 ML
2-book. Si2e = G.2¢ ML
8o.0c0 /€15 = V2.-Joo
12 . oo ‘a:vo\v.s Qre abswt e Came %2e ot page 2 out of 2 pages
described W1 @ Gb Flash disk



